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[Question ID = 9517)
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2. it Afses fie wara w3 i, S33r i [Option 1D - 18041)
3. g i woE wE w g [Option 1D - 38084]
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Correct Answer -
& i e R ysre w2 0. S i [Option 1D = 18041
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[Question ID = 9518]

1. wpilE SEULYE [Option D = 18064]
I FilE wEYE [Option (D = H0&T)
3. wpilH HEPYE [Option 1D - J80GE]
4. milm woyE [Option 1D - 104

Correct Answer =-
& FlE wyE [Option 1D - 3065
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[Question ID = 9519]
1. = SeRs

[Option iD= 380
I T EEEA TR A
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I TR I AT

[Opticn ib - 3857
4. 7. wusds fHy wg

[Option 1D = 38071

Correct Answer --
» F. ausls iy wg

[Option 1D = 38071

4) feraret oolt st 3 7
[Question ID = 9520]
1. Z [Option 1D = YAO74]
! T [Option 1D = 3807S]
3. ¥ [Option ID = M7E]
4. ¥ [Option 1D = 18077]

Correct Answer -
® F [Option D = J8074)
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[Question ID = 9521]

1. WE [Option 1D = 38078)
I v [ption D - 1807Y)
3. ywrdh [Option iD= JE0Ed]
4. sl [Option 1D = HE0E1]

Correct Answer --
& Ut [Option 1D - T80

&) fao? wen =w FAR e fiorhes g 2

www.FirstRanker.com



FirstRanker.com
https://firstranker.com/
https://firstranker.com/

ﬂl“Flﬁ‘tRanker.cnm

MFi stiapker's choice www.FirstRanker.com www.FirstRanker.com

[Cotion 1D = JE0ES)
Correct Amswer --
a &

[Cotion 1D = JEG0ET)

7) wisht s neitee o fefroer wree e dum de D 7

[Question ID = 9523]

1. & O3 fHy

[Option iD = ME)
1. = TamT Ry

[Opticn ib - 1E0ET)
1. & e Ry i

[Option iD= M)
4. 7. dicEe Ry
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Correct Amswer --
o 7. afEs Ry I

 [option 1D - 1anes]
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[Question ID = 9524]

1. 2 HarEeE [Option ib -
2. P Sumt [Option ID - 18091
3. &%t 5EA [Option D = 180492
4. wigT [Option 1D = 38093]

Correct Answer -
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[Question ID = 9525]

1. Bt fadw =t [Option D - 28094)

1.yt S o [Option ID = 18055

3. = HE e [Option iD= JE05]

4. g &= [Option ID - J50%T]

Correct Answer -
& 35 HE = [Option 1D = 1805
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[Question ID = 9526]

1. fEfsow 2 A= [Option 1 = J8098)
i. ffrw 3 fH [Option ID - J809)
1. fifr 2 = [Option 1D - 38100)

4. #= 2 = [Option 1D = 3E101]

Correct Answer -
& w2 fil [Option ID - 180445]
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[Question ID = 9527]
1. == =iy of (e Yk wroa (Fw [Option 1D - 38102)
@ Hir R B wEw HE [Option 1D - 18103

1. ubm 2 g 9T - Hises Ry Joe [Option 10 = 38104)
4. ¥ U7 - gafes H [Option 1D = 38105

Correct Amswer =-
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Correct Answer z-
& YgEEE [Option 1D - 1E108)
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[Question ID = 9529]

1. =zt [Option iD - 1&110]
_ sils [Option B - 18111]
1. B [Option (D = 18112]
4. 2 [Option 1D = 1E113]

Correct Answer -
& T [Option (D - 1811Z)
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[Question ID = 9530]

1. =t = [Option 1D = 38114]

I mevAS o [Option D = 38115]

3. =T o [Option 1D - 38118]

4. oy £ S wlt [Option 1D - 38117)

Correct Answer --
& oy i S it [Option (D = 38117
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[Question ID = 9531]

1. =A==t [Option i = 38118)
I Senfaasr [Dption D - 38119)
1. mdzee [Option 10 - 38120)
4. = BE 33 ==t [Option (D - [38121)

Correct Amswer -
& Seninas [Option D - 18119)
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[Question ID = 9532]

1. g THER T [Option I = 38122]

. g oA A [Dption I - 318123]
3. g w2 A [Option iD= 38124]
4. Tg 3@ wred 7 [Option D = 3125)

Correct Amswer =-
# I I A A [Option 1D = 18123]
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[Cuestion ID = 9533
1. G [Option 10 = 181248)
Y. wYFFF [Option (0 = 18127]

3. g=furar [Option i = 38128)
4. feEe= [Option i - 181249]

Correct Answer -
« fEFeT [Option 10 = J8129)
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[Question ID = 9534]

1. 2R wEFat [Option 1D = 18130

r. e fn T [Option 1D - 38131]
1. EuEw =t yors=r [Option B - 38112
4. ==ty = BaO [Option D = 38131]

Correct Answer -

» ez frda F=w [Option ib - 181031]

19) faor gewdd 7
[Question ID = 9535]

| SRRl S fatico 0 TR ]
> +

I P ade - e [Option i - 1E115)
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[Question ID = 9536]
1. §25 [Option 10 = 18138)

1. = BT [Option 1D = 18119]
3. =g g [Option 1D - 381.40)

4. == [Option 10 - 18141)

Correct Amswer -
- nﬂ:ﬁr[nphunlb 1 .?m]
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[Question ID = 9537]

1. T = fFy [Option 10 = 38142)

r AFES Ay ST [Option B - 18141)
3. #or Ha Fiss [Option 1D - 1E8144)
4. #va fAW [Option 1D = 38145)

Correct Answer =-
& e A [Option 1D - 38145)
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[Question ID = 9538]

1. B [Dption D - 18146]

I Fa [Dpticn 1D = 38147

3. 7 [Option ID = 38148

4. oy 55 S wi [Option 1D - 38149)

Correct Answer -
& EF [Option 1D = 28146)
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[Question ID = 9539]

1. 7 gAS, I 342, F5IS §g, 58 79, wE e [Option I - 38150)
I W e, B gAn, BETS Yo, SR, el 3 [Option I - 38151]
1. v e, ma s, BRI Yy, wEt 3uT, 2w [Option i - 38152)
4. 7w T, mzrznh; it Aoy, FETE W, HEET [Cptian b = 18153]
Correct Answer =-
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[Question ID = 9540]

. AR W [Option 10 = 38154)

. TEH [Option iD - 1&155]

. 4 [Option I - 38156]

. Tiad BopEE [Option i = 38157)

T

Correct Amswer =-
& igs ESg=Es [Option 10 - 38157)

25) 9% fufime & faoe Tewd s & 7
[Question ID = 9541]

- YT WS TE: YEE [Option ID - 18158)
. S TE-EAE [Option 1D - 18158)
. == yos =5 oA [Option 1D = 18160
. [y = e aeeera [Option 1D - 3E161)

.hl.-h-—-

Correct Answer ==
» fiE= ¥=i5 =5 TEH [Option 1D = 38160]
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[Question ID = 9542]

1. ¥ [Option 1D - 18162]

?. Fo= [Option I = 38141]

3. wEE [Option ID = 18164
4. F=Ei [Option B - 18185)

Coicach AR
» FSHEE [Option D = 18165)
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3. g fisoer winer - fendsd [Option 1D - 18168)

4. Eﬁmnama = = : 22 [Option 1D = 18165)

Correct Amswer -
& TER: A oFEm [Option D - 1E164]
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[Question ID = 9544

1. = @ A [Option 1D = JE170)

1 = iy Bt [Option I = 18171]

1. 7 : BsET e =@ [Option 1 - 18172)
4. Tz e [Option (D = 38171]

Correct Amswer =-
- mmm-ﬁmnnm iy = 331:’1]
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[Question ID = 9545]

1. SafHes Hig i [Option I - 38174]
:. gE== A [Option D = 38175)

1. goes Ry [Option 1D = 18176)

4. g i [Option D - 18177)

Correct Answer -
= m:ﬁtr[npmnl} Jm?a]
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[Question ID = 9546]
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1. =%t =F [Option 1D = 38178)

I 3 [Option 1D - 38179)

3. FEz dEw [Option 10 - 38180)
4. FaeEt i AF [Option 1D = JE181)

Correct Amswer -
o FHzH 9T [Option iD - 38180)
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[Question ID = 9547]

1. e THD - W H R [Option 1D - JE1E2)

r ufgae A o - @i wears [Option iD - 3818Y)
3. wiier HHE ©  f U= E [Option 1D - 38184

4. WEHT SEHT : AoAeST S5 EeE |Option 10 = 18185

Correct Amswer =-
- wzh*m-lz ;*'F:q:rmmnnm iy = .1;!;134]
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[Question ID = 9548]
1. =03 [Eh

[Option 0 = 1184
L
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[Ootion 1D = 378k
4. [\ F

[Option iD= &89

Correct Answer --
RN www_FirstRanker.com

[Option 0 = JETES]



FirstRanker.com
https://firstranker.com/
https://firstranker.com/

=I lL‘fl’lSIBET\’RE’I"E arem & aw €3 wfaz 4 7

lcﬁuuh'-anhqr s choice
¥ ddhum [Option ID = 18191 www.FirstRanker.com

1. wode W aien [Option (D = 38192)
4. 2ydE W EyFER [Ootion ID - ME151)

Correct Answer -
= :-E‘lzﬂﬂ?m[npnm I = law:u
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[Question ID = 9550]
. Feei= fHe &=t [Option iD= 38194)
. =y By ' [Option 1D = 381%95]
. SEES arEt [Option i - 1819]
. Az fHud [Option 1D = J8157]

.hl.-H—-

Correct Amswer =-
» FarT fry #=t [-I:Ipt'nn i = !&142-1]
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[Question ID = 9551]

1. =igT - HEE WEG [Option 1D - 3E19E)
I Febme fomAw [Option ib - 18194]
1. fEe=Tg [Option I = 1R200]

4. Fims B wewEs [Option 16 = 38200]

Correct Amswer =-
- H‘rﬂ;éuﬂéﬁ[ﬂpmnm :uil[n]
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[Question ID = 9552]
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1. Bu= [Opticn iD= 38302)
I & [Option I - 18200]

3. wrEd [Option D = 18204]
4. wERg  [Option 1D = JE205]

Correct Answer --
& o [Option 1D = 18204)
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[Question ID = 9553]

1. S5%= arget [Option i = J8206]

t. Some (A [Option 10 - 18207]

L8 maﬁmtmzmpmn i = JE2 )

4. TF=s () [Option 1D - 18209)

Correct Answer -
& FaEe Y [Option 10 = 18207]
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[Question ID = 9554]

1. #z iy Al [Option i = 38210]

r famw Ay [Option D - 38211)

3. k== (He [Option 1D = 3813)

4. w== iy [Option 1D = 18311)

Correct Amswer =-
& e fH [Option 1D - 38211)
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[Question ID = 9555]

1. oiF=s H [Option ID - 1314

:. oh==s Wy 32 [Option D - 38215)
3. === fHy [Option i = J8216)

4. "3 Al [Option 1D - 18217

Correct Answer -

& TioEns He [Option 1D = 18114)
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Correct Amswer -
- hama' == [-npnm o - :ui:l:ﬂ]
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[Question ID = 9557]

1. w9 [Option i - 18233

* mrre AW [Option 1D - 38221)

3. s==w iy gas [Option (D = 38224)
4. soa= Ay fema [Option 1D = 3E325)

Correct Answer ==
& == Hy gas[0ption (D - 38224)
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[Question ID = 9558]

1.y By [Option 1D - J8236]

x araﬂahu[-npmn IO = JHFET]

3. ST ESES [Option 1D = J8X2E]

4. 1f=s iy mle [Option D - 18339)

Correct Answer --
& i=x fFy A [Option 1D = 18229)
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[Question ID = 9559]
1. =g= e & v - wReE frw & [Option 1D = 38230]
I oM : ot e [Opticn D - 18211)
i ??'ﬂ'ﬂ??"!'f fom = [0 o LFEFS
4. GoohE wmledd | iD= 18211]

Correct Answer -

- m-e‘t&a:-mﬂ mrEs fHi el [Option iD - 35250
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[Question ID = 9560]

1. =y iy W [Option 1D - 18234]

2. Fawee [Opticn 1D - 1£215]

3. Fowes e Faa [Option 1D - 38234)
4. i 37 i [Option 1D « 3237)

Correct Answer --
& FFETE [Option 1D - 1E215)
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[Question ID = 9561]
-y e gt [Opticn 1D - IH23H)
FATE BT # [Option 1D - 18219

. B e = T [Option 10 = 3040
. FEH = 3t [Option ib - 18341]
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Correct Answer --
» H3 e T 3T [Option 1D = 3E340)
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[Question ID = 9562]

1. =oFs A v [Option 1D = 18247)

I s SHE [Option 1D - 3E243)

1. st iy gRas [Option i - BE244)

4. =f=s = [Option 1D - J8245]

Correct Amswer -
» =8 Ay v [Option il - 18343]
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[Question ID = 9563]
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I 2w SWAET [Option iD - 18247]
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[Question ID = 9564]

1. FEwEs [Dption 10 = 18250]

. TETRS THEEyT [Option 1D = 38251)
3. = uoidy [Option iD - 3352

4. P SuE THIT [Opition 0 - 18253]

Correct Answer -
» P 5uE THIT [Option ib - 18253]
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[Question ID = 10285]

1. 81 ;:w-1; 8-2; A-4 [Option ID = 4||14]
I 81 ;:w-1;E-4; A1 [Option
3 83 ;wi-4; B-1 ; A-2 [Option|ib - -mle-]
4. 84 ;w-2 ;81 ; A1 [OptionID « 41117

Correct Answer =-
& 81 :w-1; B4 ; A1 [Option|ID = 41115]
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[Question ID = 102B6]

1. 82 ;-4 ; B-1; A-1 [Option 1D = 411 38]
I 81 ;-2 ;-1 ; A-4 [Dption D = 41139
382 ;w1 E-4; A1 [Option D - 41140
4. B4 ;-1 ; -1 ; A-2 [Option 1D = 41141]

Correct Arswer --
& 81 ;w-4; B-1; A3 [Option i - 411 18]
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